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01 At 22l bl 12,948 13,948 £1,000
o OIMSE SHEBNH &I
10,000,0002 * 13| 10,000 10,000 0
< 3,000 0 3.000
2 7,000 10,000 £3,000

- 185 -




2N BALS5
M (osH 25
Tl O = - A2 B35 (EEREED
SA-HH S (3A) - HFAY - BAES 0 &k o J1 3 o Hms2
| | | o GlMEEs B2 XF(7%) -1,000,0002! A 1,000 0 A 1,000
S22 MHZA X4 2,579,329 2,579,329 0
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o 1,029,760 0 1,029,760
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< 55,200 55,200 0
[ia 2,551,252 2,188,288 362,964
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o MHEEBE d8&F1D U3 A
Z & 200,860,000& * 1A + 13 200,860 20,000 180,860
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405 TtobFH S| 433,000 135,000 298,000
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= 2,765 0 2,765
=) 2,820 2,000 820
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= 556 556 0
< 156,000 28,000 A 13,000
s 128,266 113,266 15,000
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2 5,000 0 5,000
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